EARAROBEEIERT — 2 N— IBISH —F

201251182680 (B) 18@E&HE1H

BB T (23 ABHERHES C24 Yo% —H ‘ (x42] 7 ‘ [3eEmsh]  — |4 (B) 14000 FE
[AE4£] 1% :130,000 M  23%&:24,000”  33%&:9,000H ~ 4#%:6,000H” / 5&:0H
REBS MK HE BF (FE) g4 L (&%) | BBIER | EOF SR | AR | HhE | BRE (FIR) / BE / £ERS
- —p— 29, - 9| - ABEE (B4R
TxX/XLLy b 4 3 o 1(2_9)2 1-1-1-1 | 37.9 1 (432) ey
L:8=/F¥LLy b B7X/O0TX [ELAEEAIES
= gy TS :29. === . - SRRBEX (BHE)
S 4 3 i (11 219/24) 2-2-2-2 | 38.1 2 :’214) e
v AxITT BNV RLF BH Fi
FER A : -3-3- - AEEL (BHE)
AHhA4T 2T i 3 5%4_0 5 (2?;];;) §333 400 3 ?_758) INE
LigMx 0 ML BFFAAT FREHS
AEBE R : 44~ = fEED (BHE)
TYUETE—L 4 3 s 1.(342).3 4-4-4-4 | 39.3 4 ::3) ks
R:T5AT7>X814 L B:70—-LX FRBE%S
o = N BREF : —~6-6— — FRHER (BEHE)
5155 7713>% 4 3 b 1.(36:«1).6 6-6-6-5 | 39.4 7 (4_7;)) el N
L:7v3I7-L BiFAMIb—LA Il #Eth
RS 4 3 | DIEEFIE 1:33.9 7-7-7-6 [ 39.3| — 5 483 | ABIET (BEHE)
61111 IJ4H—3dy R 56.0 (11/2) (+6) (#%) 77—ZAbEY 3>
L:FLNnzy Tt B:xUF7vyTa—L fiE  SERL
. e : ~5-5- — 8 B
7 o [T Fa—| o3 | WEA 1.(375>.4 5-5-5-7 | 41.0 6 (333) gmgﬂé%a )
LiFTrAT7 B INToH— Eprpe]
@ 1 — S —EBIEf
13—7+— 6,3,7,4,2,5,1
A== 6,3,7,4,2,5,1
Jol=5r= 6,3,7,4,2,5,1
40—+ — 6,3,7,4,5,1,2
[ /N
BB 6 110 714K 3-6 110H B = 3-6 170H 3EHE 3-6-7 150M
8 B 6 110 6-7 130M B H 6-3 190H K31 6-3-7 350M
3 120/ 3-7 130M

ABICOVWTRDTEEERROODE. TR LIV,




